


sin x=
x = sin" (E) = 34 . 850

52

fan 52 - 0

x

x =-00 = 234 . 385
&

be

cosse = a
x = cost(s

= 7 5. 099
:



x = J25 = 159 = 6 . 24149cm

sin z=
x = sin + (i) = 23 . 5781

cos se = E
x= cos (e)

= 66 . 42189



cosc8 =A
*B = 8 x cos28: 7 .

0666

Sin 15:=
s

h = 628X Sin 15
:

= 162 .5 M
-

cos 53. 2=
x = 29 x cos 53.2 = 17 . 3717cm

sin A= 5

A : sint (*) 3

A = 53 . 1301 4



x

since to (28) = 23 .
58: -

-

5
. 54+ 1 . 52 = 3 . 808 m I

total length = 3+17.5 +
3 .808

f
= 24 . 308M

sin 37 . 1=/h = 730x Sin 37 . 1
= 440 . 3418m

130 = 200s = 3mins



-
↑ 17

tan 17=
55

PF = 55 xtan 17
= 16 .

8152m

42

144

150 = (A2)"+(24x)2 I
025x= 22500

22500 = 492+ 576x4 x =
22500

= 36
625

x =G
I P = 336 CM

sin 5 :I
h= 3. 17 x sin .

5

= 0. 2763
m



(sinx): sind
cost40 + sin40 = 1 Kosses" = cost s

cos
"
se+ since = 1

4 C

A H

4 4

4 4

pa- = 4 ,T2 = 5. 657um

Area = 42 x 4 E
=

= 32 cm

sin 12:
664

se

x = 864 xsin12

= 179 .
6357m

586m 586m

sea level

height above sea level : 174 .
6357 + 58 = 765 . 6357m



fan 78. 3= height above ground.
= 282 . 0029 + 170

PB= 58 .#x tan 78.3 = 452 .002qm
= 282 . 0029M

G
2 4
-

6+4 = 10 CM
LO

2-L
Pi=100 - 4

= 56 = 466cm



A B = 80 x sin 18

sin 18=A = 24
. F214m

tan 25:
AB

h = 24 . 1214 xtan 25 = 11 . 5278 m

&

J4 = 453 = 6 . 928 am

18x8 .53) - (π(4) ) = 60 . 5858cm2



to

1834+ 782 = 113 .8941km

90- 43 .22

↓ton

oftoon - (8) = 43 . 22
· bearing =46s

sin 18 = C

se

BC = 80 XSin 18= 24 .7214m

9 = 3(4+(3 . 8 x3)) = 46 . 2



O

sin o t
o = sin(3) = 67 . 38

:

67-38

fansett . 5490
1
. 5440



cos 25= AB
12 .S

AB = 12 . 5 x 10525 :: 11 . 3288 11 . 3288

O

sind:
10 .S

0 = sin"1 : 49 . 6624
49 .692410 .5



O

for = 5 = 75 .Maee

15. 82 + 1. 52 = 5 .9908

5. 9908

tan 50 : 1
S

I

Y = 5xtanso

tar 38:
y

x = ytan 38

=
Extansoxtan 38

= 4 . 6555
4

. 6555



tany = o
y = tan

+(e)
= 84 .0059

84 . 0089

!

sins= E
F

h = 5 . 36

A = 53 . G

53 . 6



I

cosx=
&

tan 65= Lo

2 = cost /As
y = 3 Hon

65

= 6 .43
= 49 . 98 49 . 98

Cs 40=
BC = Cas40x0

=
0 . 766 x10

= 7- 66

7 . 66



fanx=
4. S

BC =Stanz
= 8 X0 . 6 = 4 . 8

102 LO

↑

60 60
-

+
/

sin Go=
↓
= 10 s in 60 = 553

= 8 . 66 8-66

↓ x b x8 . 66 = 43
.

301

45 . 301



-

5

60

singo=
x = 5sin 60= 4 . 33 4

. 33

* x4 . 33x5 = 10 . 83
10 . 83

6x 10 .83=64 . 98 64-af

x

sin 30= 0 .8+ 4= 4-8
f

z = 8sin 30 = 4m

4
. 8



t-fD I= 00
J+82 = 12 . 81

B

12 .8/

ton O =
o

90-38. 66

O-tant S = 51 . 34

To
= 38

. 66
51 . 34

=

x

tancoo/a-o
357 . 2

100

A tano = -

100 357 . 2
of

357-2 0 = 15 .6 15 .6


